

$$\begin{cases} \cot \frac{\pi}{\varepsilon} & x < 1 \\ \sqrt{x^2 + 1} & x > 1 \end{cases}$$

$$f(f(\frac{\sqrt{3}}{4})) \rightarrow f(\frac{\sqrt{3}}{4}) = \cot \frac{\pi(\frac{\sqrt{3}}{4})}{\varepsilon} = \cot \frac{\pi}{4} = \sqrt{3}$$

$$f(\sqrt{3}) \rightarrow \sqrt{3+1} = \sqrt{4} = 2$$

۱

$$f \circ g(\frac{1}{\sqrt{2}}) \rightarrow f(g(\frac{1}{\sqrt{2}})) \rightarrow g(\frac{1}{\sqrt{2}}) = 2 \times \cos(\frac{\pi}{\sqrt{2}}) = 2 \times \frac{1}{2} = 1$$

$$f(\frac{1}{\sqrt{2}}) \rightarrow \frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} \rightarrow x = \frac{1}{\sqrt{2}} \rightarrow f(x) = \sqrt{\frac{x}{\varepsilon}} \rightarrow \frac{1}{\sqrt{2}} \sqrt{\frac{1}{\sqrt{2}}} = \frac{\sqrt{1}}{\sqrt{2}} = \frac{1}{\sqrt{2}}$$

۲

$$f \circ g(\sqrt{2}) \rightarrow g(\sqrt{2}) = \frac{\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{\sqrt{2}+2}{-1} = -\sqrt{2}-2$$

$$f(-\sqrt{2}-2) = [-\sqrt{2}-2] = -\varepsilon$$

$$f(\frac{\pi}{\varepsilon}) = \sin(\frac{\pi}{\varepsilon}) = \frac{\sqrt{2}}{2} \rightarrow g(\frac{\sqrt{2}}{2}) = \frac{\sqrt{2}}{2} \sqrt{1-\frac{1}{2}} \Rightarrow \frac{\sqrt{2}}{2} \times \frac{\sqrt{2}}{2} = \frac{1}{2} = \frac{1}{\varepsilon}$$

۳

$$f(g(a)) \Rightarrow \begin{matrix} \varepsilon \rightarrow 4 \rightarrow \omega \\ 2 \rightarrow \varepsilon \rightarrow \omega \\ 4 \rightarrow 1 \rightarrow 12 \\ 1 \rightarrow 10 \rightarrow 12 \end{matrix} \rightarrow \{(\varepsilon, \omega), (2, \omega), (4, 12), (1, 12)\}$$

الف)  $f(g(a)) \Rightarrow \varepsilon \rightarrow \omega \rightarrow x$   
 $2 \rightarrow \varepsilon \rightarrow x$   
 $4 \rightarrow 1 \rightarrow x$   
 $1 \rightarrow 10 \rightarrow x$

ب)  $g(f(m)) \Rightarrow \varepsilon \rightarrow \omega \rightarrow x$   
 $2 \rightarrow \varepsilon \rightarrow x$   
 $4 \rightarrow 1 \rightarrow x$   
 $1 \rightarrow 10 \rightarrow x$

ج)  $f(f(m)) \Rightarrow \varepsilon \rightarrow \omega \rightarrow x$   
 $2 \rightarrow \varepsilon \rightarrow x$   
 $4 \rightarrow 1 \rightarrow x$   
 $1 \rightarrow 10 \rightarrow x$

د)  $g \circ g(a) \Rightarrow \varepsilon \rightarrow 4 \rightarrow 1$   
 $2 \rightarrow \varepsilon \rightarrow 4$   
 $4 \rightarrow 1 \rightarrow 10$   
 $1 \rightarrow 10 \rightarrow x$

ه)  $f \circ f(m) = \emptyset$   
 $g \circ g(m) = f(f(g)) = \{(\varepsilon, 4), (2, 4), (4, 1), (1, 10)\}$

$$f(g(m)) : \begin{matrix} \varepsilon \rightarrow 4 \rightarrow 2 \\ a \rightarrow 2 \rightarrow 2 \end{matrix} \quad f(m) \rightarrow (2, 2)$$

$$a = 2 \rightarrow a = \varepsilon$$

۵

$$g(f(m)) : \begin{matrix} \varepsilon \rightarrow 4 \rightarrow 1 \\ (a, \omega) \rightarrow (b, 1) \end{matrix} \rightarrow b = \omega$$

$$\rightarrow (\varepsilon, \omega)$$

$f(x) = ax + b \rightarrow f(f(x)) = a(ax + b) + b = a^2x + ab + b = \varepsilon x + \gamma$   
 $a^2 = \varepsilon \rightarrow a = \pm \sqrt{\varepsilon} \rightarrow \begin{cases} \sqrt{\varepsilon} + \gamma = \varepsilon + \gamma b \\ \gamma - \gamma = \varepsilon - b \end{cases} \rightarrow \begin{cases} b = 1 \\ b = -\gamma \end{cases}$   
 $\rightarrow f(x) = \sqrt{\varepsilon}x + 1$   
 $\rightarrow f(x) = -\sqrt{\varepsilon}x - \gamma$   
 $g(\sqrt{\varepsilon}x + 1) = \gamma x - \gamma \rightarrow x = \sqrt{\varepsilon}x + 1 \rightarrow \gamma = \frac{\gamma}{\sqrt{\varepsilon}} \rightarrow g(x) = \sqrt{\varepsilon}(\frac{x-1}{\sqrt{\varepsilon}}) - \gamma = \frac{x-1}{\sqrt{\varepsilon}} - \gamma$   
 $g(-1) = \frac{-1-1}{\sqrt{\varepsilon}} - \gamma = -\frac{2}{\sqrt{\varepsilon}} - \gamma$   
 $-1 \leftarrow f(-1) = -\gamma(-1) - \gamma = \gamma - \gamma = 0 \rightarrow f(x) = \frac{\gamma x - \gamma}{\sqrt{\varepsilon}}$

$D_{g \circ f} = \{x \in D_f : f(x) \in D_g\}$   
 $D_f \rightarrow x + |x| \geq 0 \rightarrow \mathbb{R}$   
 $D_g \rightarrow x^2 - \varepsilon x \neq 0 \rightarrow x \neq \varepsilon \rightarrow \mathbb{R} - \{\varepsilon\}$   
 $D_{g \circ f} = (\mathbb{R} + \infty) - \{1\}$   
 $\rightarrow \mathbb{R} : \sqrt{x + |x|} \neq \varepsilon, 0$   
 $\downarrow$   
 $\sqrt{x + |x|} \neq \varepsilon \rightarrow x + |x| \neq \varepsilon^2$   
 $\downarrow$   
 $\sqrt{x + |x|} \neq 0 \rightarrow x \neq (-\infty, 0]$

$D_{(f+g) \circ f} = \{x \in D_f : f(x) \in D_{f+g}\} \Rightarrow \{x \in [-1, 1] : f(x) \in \{0, 1\}\}$   
 $D_{f \circ g} = \{x \in D_g : g(x) \in D_f\} \Rightarrow \{x \in \mathbb{R} : x^2 - \varepsilon x \in [-1, 1]\}$   
 $D_{f+g} = \{0, 1\}$   
 $\rightarrow f(x) = 0 \rightarrow x = 0$   
 $\rightarrow f(x) = 1 \rightarrow x = 1$   
 $D_{(f+g) \circ f} = \{0, 1\}$

$\text{الف) } \frac{x(n+1)}{n-1} = \varepsilon \rightarrow x(n+1) = \varepsilon(n-1) \rightarrow xn + x = \varepsilon n - \varepsilon \rightarrow n(x - \varepsilon) = -\varepsilon - x$   
 $f(x) = f(\frac{x+1}{\varepsilon-x}) + \alpha \rightarrow f(x) = \varepsilon(\frac{x+1}{\varepsilon-x}) + \alpha \rightarrow \frac{x+1}{\varepsilon-x} = \frac{f(x) - \alpha}{\varepsilon}$   
 $\rightarrow x + \frac{1}{\varepsilon-x} = \frac{f(x) - \alpha}{\varepsilon}$   
 $(x + \frac{1}{\varepsilon-x})^2 = x^2 + \frac{1}{\varepsilon-x} + \frac{1}{\varepsilon-x} + \frac{1}{(\varepsilon-x)^2} \rightarrow x^2 + \frac{1}{\varepsilon-x} = (x + \frac{1}{\varepsilon-x})^2 - \frac{1}{(\varepsilon-x)^2} \rightarrow f(x) = \varepsilon \frac{1}{\varepsilon-x} \rightarrow f(x) = \frac{\varepsilon}{\varepsilon-x}$

$g \circ f(x) = 0 \rightarrow g(x) = 0 \rightarrow f(x) = 0 \rightarrow x\sqrt{x} = \sqrt{x} \rightarrow x = 1$   
 $\rightarrow x\sqrt{x} = 1 \rightarrow x = 1$